

## **Business Courses**

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
UNDERGRADUATE					
Diploma of Business	Adelaide, Sydney, Melbourne, Brisbane, Online	090282F	1	\$22,800	\$22,800
Diploma of Business Information Systems	Adelaide, Sydney, Melbourne, Brisbane	0100552	1	\$22,800	\$22,800
Diploma of Event Management	Sydney, Brisbane, Online	094182M	1	\$22,800	\$22,800
Diploma of Marketing	Adelaide, Sydney, Melbourne, Brisbane, Online	092485A	1	\$22,800	\$22,800
Bachelor of Business	Adelaide, Sydney, Melbourne, Brisbane, Online	090275E	3	\$22,800	\$68,400
Bachelor of Business (Entrepreneurship)	Adelaide, Sydney, Melbourne, Brisbane, Online	095229D	3	\$22,800	\$68,400
Bachelor of Business (Event Management)	Sydney, Brisbane, Online	090278B	3	\$22,800	\$68,400
Bachelor of Business (Marketing)	Adelaide, Sydney, Melbourne, Brisbane, Online	090279A	3	\$22,800	\$68,400
Bachelor of Business (Sports Management)	Adelaide, Sydney, Online	090265G	3	\$22,800	\$68,400
Bachelor of Business Information Systems	Adelaide, Sydney, Melbourne, Brisbane	0100551	3	\$22,800	\$68,400
Bachelor of Commerce	Adelaide, Sydney, Melbourne, Brisbane	088180G	3	\$22,800	\$68,400

#### Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



# **Business Courses**

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
POSTGRADUATE					
Graduate Certificate of Business Administration	Adelaide, Sydney, Melbourne, Brisbane, Online	095349G	0.5	\$12,800	\$12,800
Graduate Certificate of Global Project Management	Adelaide, Sydney, Melbourne, Brisbane, Online	095351B	0.5	\$11,900	\$11,900
Graduate Diploma of Business Administration	Adelaide, Sydney, Melbourne, Brisbane, Online	095352A	1	\$25,600	\$25,600
Graduate Diploma of Business Information Systems	Adelaide, Sydney, Melbourne, Brisbane	098258G	1	\$25,600	\$25,600
Graduate Diploma of Global Project Management	Adelaide, Sydney, Melbourne, Brisbane, Online	090245M	1	\$23,800	\$23,800
Master of Business Administration	Adelaide, Sydney, Melbourne, Brisbane, Online	095353M	1.5	\$25,600	\$38,400
Master of Business Administration (Advanced)	Adelaide, Sydney, Melbourne, Brisbane	088149G	2	\$25,600	\$51,200
Master of Business Administration (Sports Management)	Online	N/A	1.5	\$29,900	\$44,850
Master of Business Administration (Sports Management, Advanced)	Adelaide, Sydney, Melbourne, Brisbane	0101388	2	\$29,900	\$59,800
Master of Business Information Systems	Adelaide, Sydney, Melbourne, Brisbane	098257J	2	\$25,600	\$51,200
Master of Global Project Management	Adelaide, Sydney, Melbourne, Brisbane, Online	095357G	1.5	\$23,800	\$35,700
Master of Global Project Management (Advanced)	Adelaide, Sydney, Melbourne, Brisbane	090247J	2	\$23,800	\$47,600
Master of Philosophy (Management & Commerce)	Adelaide, Sydney, Melbourne, Brisbane, Online	087899K	2	\$21,800	\$43,600
Doctor of Philosophy (Management & Commerce)	Adelaide, Sydney, Melbourne, Brisbane, Online	086075C	3	\$21,800	\$65,400

#### Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



# **Business Courses**

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
POSTGRADUATE					
Master of Professional Accounting	Adelaide, Sydney, Melbourne, Brisbane	095358F	1.5	\$25,600	\$38,400
Master of Professional Accounting (Advanced)	Adelaide, Sydney, Melbourne, Brisbane	090254K	2	\$25,600	\$51,200
Master of Business Administration & Master of Global Project Management	Adelaide, Sydney, Melbourne, Brisbane, Online	090241D	2	\$23,800	\$47,600
Master of Business Administration and Master of Public Health	Adelaide, Sydney, Melbourne, Brisbane, Online	090242C	2	\$21,200	\$42,400
Master of Global Project Management and Master of Public Health	Adelaide, Sydney, Melbourne, Brisbane, Online	090248G	2	\$21,200	\$42,400

#### Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



# **Education Courses**

Campus	Course CRICOS code	Course Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
Sydney, Melbourne, Online	095592G	1	\$10,300	\$10,300
Online	095591G	1	\$10,300	\$10,300
Online	095590J	1	\$10,300	\$10,300
Online	095589B	1	\$10,300	\$10,300
Online	095588C	1	\$10,300	\$10,300
Sydney, Melbourne, Online	095587D	1.5	\$20,600	\$30,900
Sydney, Melbourne, Online	095695M	2	\$19,800	\$39,600
Adelaide, Sydney, Melbourne, Online	088891K	2	\$21,800	\$43,600
Adelaide, Sydney, Melbourne, Online	088893G	3	\$21,800	\$65,400
	Sydney, Melbourne, Online Online Online Online Online Online Sydney, Melbourne, Online Sydney, Melbourne, Online Adelaide, Sydney, Melbourne, Online	CampusCRICOS codeSydney, Melbourne, Online095592G 095591GOnline095591GOnline095590JOnline095580JOnline095580BOnline095588CSydney, Melbourne, Online095587DSydney, Melbourne, Online095695MSydney, Melbourne, Online095695MAdelaide, Sydney, Melbourne, Online088891KAdelaide, Sydney, O88893G088893G	Course CRICOS codeDuration Full Time (Years)Sydney, Melbourne, Online095592G1Online095591G1Online095590J1Online095580J1Online095588C1Online095588C1Sydney, Melbourne, Online095587D1.5Sydney, Melbourne, Online095695M2Sydney, Melbourne, Online095695M2Adelaide, Sydney, Melbourne, Online088891K2Adelaide, Sydney, O88893G33	Course CRICOSDuration Full Time (Years)Indicative Annual Fees in 2020Sydney, Melbourne, Online095592G1\$10,300Online095591G1\$10,300Online095590J1\$10,300Online095580J1\$10,300Online095580B1\$10,300Online095587D1\$10,300Online095587D1.5\$20,600Sydney, Melbourne, Online095695M2\$19,800Sydney, Melbourne, Online095695M2\$19,800Adelaide, Sydney, Melbourne, Online088893G3\$21,800

#### Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E





Course

BILLY BLUE

COLLEGE OF DESIGN

### **Design & Creative Technology Courses**

Course	Campus	Course CRICOS code	Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
UNDERGRADUATE					
Diploma of Design	Sydney, Melbourne, Brisbane	094008C	1	\$28,200	\$28,200
Diploma of Digital Media Design	Sydney, Melbourne, Brisbane	090304E	1	\$28,200	\$28,200
Diploma of Graphic Design	Adelaide, Sydney, Melbourne, Brisbane, Online	092483C	1	\$28,200	\$28,200
Diploma of Interior Design and Decorating	Sydney, Melbourne, Brisbane, Online	092484B	1	\$27,991	\$27,991
Diploma of Photo Imaging	Sydney, Melbourne, Brisbane, Online	094246M	1	\$28,200	\$28,200
Bachelor of Branded Fashion Design	Sydney, Melbourne, Brisbane	090293C	3	\$28,200	\$84,600
Bachelor of Creative Technologies (Game Art)	Sydney, Melbourne, Brisbane, Online	095346K	3	\$30,000	\$90,000
Bachelor of Communication Design	Sydney, Melbourne, Brisbane	090295A	3	\$28,200	\$84,600
Bachelor of Digital Media (3D Design and Animation)	Sydney, Melbourne	090297K	3	\$28,200	\$84,600
Bachelor of Digital Media (Film and Video Design)	Sydney	090300J	3	\$28,200	\$84,600
Bachelor of Digital Media (Interaction Design)	Sydney, Brisbane	090299G	3	\$28,200	\$84,600
Bachelor of Interior Design (Commercial)	Sydney, Melbourne, Brisbane, Online	090301G	3	\$28,200	\$84,600
Bachelor of Interior Design (Residential)	Sydney	090302G	3	\$28,200	\$84,600
Bachelor of Software Engineering (Game Programming)	Sydney, Melbourne, Online	093341J	3	\$30,000	\$90,000
Bachelor of Software Engineering (Cloud Computing)	Sydney, Melbourne, Online	099354M	3	\$30,000	\$90,000
Bachelor of Software Engineering (Artificial Intelligence)	Sydney, Melbourne, Online	099352B	3	\$30,000	\$90,000

#### Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Billy Blue College of Design at Torrens University Australia (Sydney & Brisbane) and Media Design School (Adelaide, Brisbane & Sydney)





Course

BILLY BLUE COLLEGE OF DESIGN

#### Design & Creative Technology Courses

Course	Campus	Course CRICOS code	Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
POSTGRADUATE					
Graduate Certificate of Design	Sydney, Online	095350C	0.5	\$12,400	\$12,400
Graduate Certificate in UX and Web Design	Sydney, Online	095348G	0.5	\$15,000	\$15,000
Graduate Diploma of Design	Sydney, Online	086073E	1	\$24,800	\$24,800
Master of Design	Sydney, Online	095356G	1.5	\$24,800	\$37,200
Master of Design (Advanced)	Sydney, Online	088476C	2	\$21,400	\$42,800
Master of Philosophy - Design	Adelaide, Sydney, Melbourne, Online	086077A	2	\$21,800	\$43,600
Master of Software Engineering (Artificial Intelligence, Advanced)	Adelaide, Sydney, Melbourne, Online	099353A	2	\$30,000	\$60,000
Master of Software Engineering (Cloud Computing, Advanced)	Adelaide, Sydney, Melbourne, Online	099355K	2	\$30,000	\$60,000
Doctor of Philosophy - Design	Adelaide, Sydney, Online	086078M	3	\$21,800	\$65,400

#### Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Billy Blue College of Design at Torrens University Australia (Sydney & Brisbane) and Media Design School (Adelaide, Brisbane & Sydney)



WILLIAM BLUE COLLEGE OF HOSPITALITY MANAGEMENT



# **Hospitality Courses**

		Course CRICOS	Course Duration Full Time	Indicative Annual Fees	Indicative Total Course
Course	Campus	code	(Years)	in 2020	<b>Tuition Fees</b>
UNDERGRADUATE					
Diploma of Business (Hospitality Management)	Sydney, Online	094177G	1	\$24,000	\$24,000
Diploma of Business (International Hotel & Resort Management)	Sydney	089927F	1	\$29,800	\$29,800
Diploma of Business (Tourism Management)	Sydney, Online	094174M	1	\$24,000	\$24,000
Associate Degree of Business (Hospitality Management)	Sydney, Online	094178G	2	\$24,000	\$48,000
Associate Degree of (International Hotel & Resort Management)	Sydney	089926G	2	\$29,800	\$59,600
Associate Degree of Business (Tourism Management)	Sydney, Online	094175K	2	\$24,000	\$48,000
Associate Degree of Culinary Management	Sydney	094180B	2	\$27,000	\$54,000
Bachelor of Business (Hospitality Management)	Sydney, Online	094179F	3	\$24,000	\$72,000
Bachelor of Business (Tourism Management)	Sydney, Online	094176J	3	\$24,000	\$72,000
Bachelor of Business (International Hotel and Resort Management)	Sydney	089925G	2.5	\$29,800	\$89,400
Bachelor of Culinary Management	Sydney	094181A	3	\$26,000	\$78,000
POSTGRADUATE					
Graduate Certificate of Business Administration (International Hotel Management)	Online	N/A	0.5	\$15,000	\$15,000
Graduate Certificate of International Hotel Management	Sydney, Melbourne	089932J	0.5	\$15,300	\$15,300
MBA International Hotel Leadership	Online	N/A	2	\$22,500	\$45,000
Master of International Hotel Management	Sydney, Melbourne	089931K	2	\$23,100	\$46,200

\*BM@TUA courses: www.bluemountains.edu.au/apply/international-applicants/fees/

#### Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Blue Mountains International Hotel Management School at Torrens University Australia (Sydney and Blue Mountains)



# **Health Courses**

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
UNDERGRADUATE					
Diploma of Beauty and Spa Practice	Brisbane, Online	094184J	1	\$25,830	\$25,830
Diploma of Health Science	Melbourne	099640E	1	\$22,500	\$22,500
Bachelor of Applied Public Health	Adelaide, Online	088181G / 084768A	3	\$26,900	\$80,700
Bachelor of Applied Social Science (Community Services)	Adelaide, Sydney, Online	097401C	3	\$21,499	\$64,496
Bachelor of Health Science (Aesthetics)	Brisbane, Online	093345E	3	\$25,000	\$75,000
Bachelor of Nursing	Sydney, Melbourne, Brisbane	0100910	3	\$26,667	\$80,000
Bachelor of Nutrition	Online	N/A	3	\$26,681	\$80,042
Bachelor of Health Science (Clinical Nutrition)	Sydney, Brisbane, Melbourne	099642C	3	\$21,800	\$65,400
Bachelor of Health Science (Naturopathy)	Melbourne	099643B	4	\$22,500	\$90,000
Bachelor of Health Science (Western Herbal Medicine)	Melbourne	099641D	3	\$21,800	\$65,400
POSTGRADUATE					
Graduate Certificate in Public Health	Adelaide, Sydney, Melbourne, Brisbane, Online	097405K	0.5	\$11,235	\$11,235
Graduate Diploma of Public Health	Adelaide, Sydney, Melbourne, Brisbane, Online	097406J	1	\$22,470	\$22,470
Master of Public Health	Adelaide, Sydney, Melbourne, Brisbane, Online	097404M	1.5	\$22,700	\$34,050
Master of Public Health (Advanced)	Adelaide, Sydney, Melbourne, Brisbane	095594E	2	\$22,700	\$45,400
Master of Business Administration and Master of Public Health	Adelaide, Sydney, Melbourne, Brisbane, Online	090242C	2	\$21,200	\$42,400
Master of Global Project Management and Master of Public Health	Adelaide, Sydney, Melbourne, Brisbane, Online	090248G	2	\$21,200	\$42,400
Master of Philosophy (Health)	Adelaide, Melbourne, Online	088892J	2	\$21,800	\$43,600
Doctor of Philosophy (Public Health)	Adelaide, Melbourne, Online	087898M	3	\$21,800	\$65,400

#### Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



# **Health Courses**

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
UNDERGRADUATE					
Bachelor of Health Science (Clinical Myotherapy)	Melbourne	084579F	3	\$22,500	\$67,500

Think: Colleges Pty LTD, ABN 93050 049 299 PRV12058, RT00269, CRICOS 00246M T/A Southern School of Natural Therapies

All fees and costs outlined above are in Australian Dollars (AUD) and include GST. Every effort has been made to ensure the accuracy of information at the time of publication. However, prices are subject to change and we reserve the right to change this information at any time. Tuition fees are an estimate only and will vary according to the study load in any given study period. Think: Colleges Pty Ltd reserves the right to increase fees by up to 10% in each calendar year to cover increases in the cost of course delivery. Think: Colleges Pty Ltd is a national provider of higher education and training. The information published in this document is correct at the time of publication, and may be subject to change. Think Education and Torrens University Australia are both part of the Laureate International Universities network. Published Jan 2020 © 2019-2020 Think: Colleges Pty Ltd. All Rights Reserved.



# **Health Courses**

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
UNDERGRADUATE					
Bachelor of Applied Social Science (Counselling)	Sydney	085175G	3	\$21,499	\$64,496

Think: Colleges Pty LTD, ABN 93050 049 299 PRV12058, RT00269, CRICOS 00246M T/A Jansen Newman Institute

All fees and costs outlined above are in Australian Dollars (AUD) and include GST. Every effort has been made to ensure the accuracy of information at the time of publication. However, prices are subject to change and we reserve the right to change this information at any time. Tuition fees are an estimate only and will vary according to the study load in any given study period. Think: Colleges Pty Ltd reserves the right to increase fees by up to 10% in each calendar year to cover increases in the cost of course delivery. Think: Colleges Pty Ltd is a national provider of higher education and training. The information published in this document is correct at the time of publication, and may be subject to change. Think Education and Torrens University Australia are both part of the Laureate International Universities network. Published Jan 2020 © 2019-2020 Think: Colleges Pty Ltd. All Rights Reserved.



# **Health Courses**

Course	Campus	Course CRICOS code	Course Duration Full Time (Years)	Indicative Annual Fees in 2020	Indicative Total Course Tuition Fees
UNDERGRADUATE					
Diploma of Nursing	Adelaide, Sydney, Melbourne, Brisband	095475A e	1.5	\$20,200	\$30,300

#### Think: Colleges Pty LTD, ABN 93050 049 299 PRV12058, RT00269, CRICOS 00246M

All fees and costs outlined above are in Australian Dollars (AUD) and include GST. Every effort has been made to ensure the accuracy of information at the time of publication. However, prices are subject to change and we reserve the right to change this information at any time. Tuition fees are an estimate only and will vary according to the study load in any given study period. Think: Colleges Pty Ltd reserves the right to increase fees by up to 10% in each calendar year to cover increases in the cost of course delivery. Think: Colleges Pty Ltd is a national provider of higher education and training. The information published in this document is correct at the time of publication, and may be subject to change. Think Education and Torrens University Australia are both part of the Laureate International Universities network. Published Jan 2020 © 2019-2020 Think: Colleges Pty Ltd. All Rights Reserved.



# **English Language Courses**

Valid for application into 2020 intakes only

#### **Course fees**

\$320 per week

#### **Enrolment fee**

\$200

#### **Material fee**

\$10 per week (capped at \$200 per application)

Special promotional fees by region may be available, please contact your agent or study@laureate.edu.au

#### **Courses available**

- General English (Elementary to Pre Intermediate)
- GE218 General English 2 (Intermediate to Upper Intermediate)
- GE318 General English 3 (Advanced)
- EAP118 English for Academic Purposes 1
- EAP218 English for Academic Purposes 2

#### **Campus locations**

Available in Sydney, Melbourne and Brisbane. In Adelaide, English programs are delivered by our preferred partner, the Intensive English Language Institute (IELI).

#### Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E